
Class:Class 7 Subject: Maths Topic:Application of Percentage

S.No Question Answer Options

1 Express 38% as a ratio.

14:25

17:50

19:50

9:25

14:25

17:50

19:50

9:25

2 The percentage equivalent 
of the fraction 39/40 is

97½%

99½%

98%

78%

97½%

99½%

98%

78%
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3 Choose the correct option : 
0.004 is same as _______.

4/100

20/1000

0.4%

0.04%

4/100

20/1000

0.4%

0.04%

4

In a class of 45 students, 
20% wear spectacles. How 
many students wear 
spectacles? ____________

Answer
____________

Answer
____________

5

Solve the problem : In an 
examination, 95% of the 
total examinees passed. If 
the number of failures is 28, 
the number of examinees 
were = 560

True

False

True

False
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Correct Answer is
1. Correct Ans option is 19:50
2. Correct Ans option is 97½%
3. Correct Ans option is 0.4%
4. Correct Answer is 9
5. Correct Ans option is True
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